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Volume of prism = area of cross-section ( length
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Volume of sphere = 
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Surface area of sphere = 4( r2
Volume of cone = 
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Curved surface area of cone = ( rl
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In any triangle ABC

Sine Rule:
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Cosine Rule:
a2 = b2 + c2 –2bc cos A


Area of a triangle = 
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 ab sin C 
The Quadratic Equation

The solutions of ax2 + bx + c = 0, where a ( 0, are given by x = 
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Higher – Section A – Calculator

1.
Here are the first five terms of an arithmetic sequences.




1,
5,
9,
13,
17.

(a)
Write down the next two numbers of the sequence.

……..………,  …………..

(1)

(b)
Write down, in terms of n, an expression for the nth term of this sequence.

........................
(2)

(Total 3 marks)


2.
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The diagram shows a shape.


Work out the area of the shape.
........................cm2
 (Total 4 marks)


3.
Change 28 miles to kilometres.

........................... km
 (Total 2 marks)


4.
Jennifer made x cakes.


She put 4 sweets on top of each cake.


(a)
Write down an expression, in terms of x, for the number of sweets she used.


.................................

 (1)
Paul made 3 more cakes than Jennifer.
(b)
Write down an expression, in terms of x, for the number of cakes Paul made.
.................................

 (1)
Paul also put 4 sweets on each of his cakes.

(c)
Write down an expression, in terms of x, for the number of sweets Paul used.
………………………
(1)
(Total 3 marks)

5.
Expand and simplify

(a)
4(2x + 5) − 3(x − 1)


…………...................

(2)


(b)
(2x + 3)(x − 2)

…………...................
(2)
(Total 4 marks)


6.
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(a)
Calculate the volume of the triangular prism.

…………………cm3
(3)

The prism is solid.

It is made of wood.

The prism has a mass of 525g

(b) Work out the density of the wood.

.....................g/cm3
(2)
(Total 5 marks)


7.
Factorise
x2 – 6x + 16  
…………………..

(Total 2 marks)


8.
Simplify fully
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++


…………………

(Total 2 marks)

Total: 25 marks

Higher – Section B – Non - Calculator

1.
Using the information that:




73 ( 154 = 11 242

write down the value of 
(i)
7.3 ( 1.54

…………...................

(ii)
112 420 ( 0.73
…………...................

(Total 2 marks)


2.
(a)
Find the Highest Common Factor of 75 and 90
………………..
(2)


(b)
Find the Lowest Common Multiple of 75 and 90

………………..

(2)

(Total 4 marks)


3.
Work out 60% of 5300 kg.

……………….. kg
(2)
 (Total 2 marks)

4.



(a)
(i)
Work out the value of x°.
x = ……….……
(ii)
Explain how you worked out your answer.


……………………………………………………………………….……….…

……………………………………………………………………….….………
(2)

(b)
(i)
Work out the value of y°.
y = ……….……
(ii)
Explain how you worked out your answer.


……………………………………………………………………….……….…

……………………………………………………………………….….………
(2)
(Total 4 marks)


5.
(a)
Complete the table of values for y = 2x − 3
	x
	−3
	−2
	−1
	0
	1
	2
	3

	y
	−9
	
	−5
	
	
	
	3


(2)

(b)
On the grid, draw the graph of y = 2x − 3
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(2)
(Total 4 marks)


6.
Convert the recurring decimal 
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1

0

.

0

&

&

 to a fraction.

………………
(Total 3 marks)


7.
Find the value of 

(i)
10−2
………………
(ii)
70
………………
(iii)
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………………
(Total 3 marks)


8.
Express
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as a single algebraic fraction.
….………….…….

 (Total 3 marks)


Total 25 marks

1.
(a)
(−3), 1, 5, 9, 13, 17
21, 25


(b)
4n − 3
2.
A = 
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 (12 ( 5) = 30

B = 8 ( 9 = 72

Total = 102 cm2
3.
1 mile = 
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 or 1.6 km


28 miles = 28 ( 1.6 = 44.8 km

4.
(a)
4x

(b)
x + 3


(c)
4(x + 3)
or
4x + 12
5.
(a) (i)
30 minutes 
(or 
[image: image17.wmf]2
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 hour)


(ii)
100km 
(( 5km)

(b)
D = 320 − 200 = 120

T = 1.5 hours



S = 
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D

 = 120 ( 1.5 

= 80 km/h

6.
(a)
4(2x + 5) − 3(x − 1)

= 8x + 20 − 3x + 1

= 5x + 21

(b)
(2x + 3)(x − 2) = 2x2 − 4x + 3x − 6

= 2x2 − x − 6

7.
(a)  210 cm3

(b)
2.5 g/cm3
8.
(x – 8)(x + 2)

9.
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Section B

1.
(i)
7.3 ( 1.54 = 11.242 (3dp needed)


(ii)
112420 ( 0.73 = 11242000 ( 73     = 154000

2.
75 = 3 ( 5 ( 5 

90 = 2 ( 3 ( 3 ( 5


(a)
HCF = 3 ( 5 = 15


(b)
LCM = 5 ( 3 ( 5 ( 2 ( 3 = 450

3.
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 ( 5300 = 3180 kg    or 
10% = 530 
530 ( 6 = 3180


4.
(a) (i)
180 − 50 = 130
130 ( 2 = 65°

The angles in a triangle add up to 180°, and the angles opposite the equal sides of an isosceles triangle are equal.

(b) (i)
30°

(ii)
the exterior angle (x = 65°) of a triangle = the sum of the 2 interior opposites angles

5.

	x
	−3
	−2
	−1
	0
	1
	2
	3

	y
	(−9)
	−7
	(−5)
	−3
	−1
	1
	(3)


6.


	1000x
	=
	13.013013

	x
	=
	0.013013

	99x
	=
	13









x = 
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7.
(i)
10−2 = 
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=

    (ii)
70 = 1

(iii)     7
8.
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35°





Diagram NOT accurately drawn
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